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?D<?>56 < D?NE>6 < <E ?D<<5=5=<5; 6O5>D < ?>47>F>6>4 ?4O?L=<>4 > D45>F5; ?>47>F>6>4 

?D>6>4>6 > ?4O=<N; 

- E?>E>5O E=OF<O <7>?OF<< < <=EFDG<5=FO, ?D<U<O D45>FO <<<; 

- ?4O=<5 >4=>?D>6>?>G=OE < <=>7>?D>6>?>G=OE ?D>6>4>6 D47?<G=OE <4D>> < E5G5=<=; 

- ?4O=<5 E>54<=5=<=, E>DGF>> < >F65F6?5=<= (>FD>EF>>6) >4=>?D>6>?>G=OE < 

<=>7>?D>6>?>G=OE ?D>6>4>6; 

- 6O7>4 < ED4M<64=<5 ?D>6>4>6; 

- D4745?>4 < <>=F46 >455?5= E6O7<; 

- <EE?54>64=<5 >>>=5G=OE GEFD>=EF6 <5EF=OE F5?5D>==OE E5F5= 3 =47=4G5=<5, >>=EFDG>F<O, 

<4D><D>6>4; 

- ?D>>?44>4 ?D>6>4>6, GEF4=>6>4 < <>=F46 D4E?D545?<F5?L=OE >>D>5>> < >D>EE>6>7> 

>5>DG4>64=<O; 

- <>=F46 <GDFO F<?4 �� =4 >455?5 &�; 

- <>=F46 <GDFO F<?4 �$� =4 >455?OE &�; 

- >>=EFDG>F<O < <>=F46 6>?>>>==>->?F<G5E><E >455?5=, FD55>64=<O F5E=<>< 557>?4E=>EF< ?D< 

D45>F5 E 6>?>>>==>->?F<G5E><<< >455?O<<; 

- D4745?>4 6>?>>>==>->?F<G5E>>7> >455?O, ?>47>F>6>4 6>?>>>= > E64D=><G E>54<=5=<N, 

- E64D>4 >?F<G5E><E 6>?>>>=; 



- <>=F46 >?F<G5E>>7> >D>EE4; 

- <>=F46 >?F<G5E>>= E>54<=<F5?L=>= <GDFO; 

- <7<5D5=<5 ?4D4<5FD>6 6>?>>>==>->?F<G5E>>= ?<=<< >?F<G5E><< D5D?5>F><5FD><; 

- >F5=>4 >4G5EF64 D45>FO ?<=<< ?> D5D?5>F>7D4<<5; 

- ?>47>F>6>4 D44<>EF4=F<< > D45>F5, ?D>65D>5, D57G?<D>6>5 < =4EFD>=>5 

 

&5<4 3. &<DD>64O EE5<>F5E=<>4 

&5<4 3.1. �>7<G5E><5 >E=>6O ?>EFD>5=<O F<DD>6OE GEFD>=EF6 

&5<4 3.2. &<DD>6O5 GEFD>=EF64 

&5<4 3.3. �D5>5D47>64=<5 <=D>D<4F<< < >>=FD>?L F<DD>6OE GEFD>=EF6 

&5<4 3.4. �D>F5EE>DO 

&5<4 3.5. �<>D>?D>F5EE>D=O5 E<EF5<O. �D>7D4<<<D>64=<5 

&5<4 4. -?5>FD>?<F4=<5 GEFD>=EF6 E6O7< 

&5<4 4.1. %D54EF64 M?5>FD>?<F4=<O GEFD>=EF6 E6O7< 

&5<4 4.2. &D4=ED>D<4F>DO < M?5>FD<G5E><5 D54>F>DO (4D>EE5?<) 

&5<4 4.3. %E5<O 6O?DO<?5=<O ?5D5<5==>7> F>>4 

&5<4 4.4. %7?46<64NM<5 D<?LFDO 6O?DO<<F5?5= 

&5<4 4.5. $4EG5F 6O?DO<<F5?L=OE GEFD>=EF6 

&5<4 4.6. %F45<?<74F>DO, D57G?OF>DO =4?DO65=<O < F>>4 

&5<4 4.7. �>?G?D>6>4=<>>6O5 ?D5>5D47>64F5?< =4?DO65=<O < D>44 F>>4 

&5<4 4.8. �EF>G=<>< < E<EF5<O 55E?5D55>==>7> M?5>FD>?<F4=<O (���) 

&5<4 4.9. %<<<G5E><5 <EF>G=<>< F>>4 

&5<4 4.10. -?5>FD>?<F4NM<5 GEF4=>6>< D44<>M?5>FD>==>7> >5>DG4>64=<O 

&5<4 4.11. %<EF5<O M?5>FD>?<F4=<O D44<>F5E=<G5E><E GEFD>=EF6 

&5<4 5. $44<>E6O7L E ?>46<6=O<< >5N5>F4<< 

&5<4 5.1. �D74=<74F<O E6O7< E ?>46<6=O<< >5N5>F4<< 6.4.FD4=E?>DF4 

&5<4 5.2. �D<=F<?O ?>EFD>5=<O 4??4D4FGDO D44<>E6O7< E ?>46<6=O<< >5N5>F4<< =4 6.4. 

FD4=E?>DF5 

&5<4 5.3. %F4=F<>==4O D44<>E6O7L 

&5<4 5.4. �>574=4O D44<>E6O7L 

&5<4 5.5. $5<>=F=>->?5D4F<6=4O D44<>E6O7L ($�$%) 

&5<4 5.6. $44<>?><5E< < <5F>4O 5>DL5O E =<<< 

&5<4 5.7. �D74=<74F<O M>E??G4F4F<< < >5E?G6<64=<O D44<>4??4D4FGDO 

&5<4 5.8. %<EF5<O E?GF=<>>6>= E6O7< 

 

%>45D64=<5 ��.01.01. �D><76>4EF65==4O ?D4>F<>4 (?> ?D>D<?N E?5F<4?L=>EF<) 

- <7GG5=<5 <=EFDG>F<= ?> >5E?G6<64=<N GEFD>=EF6 E6O7<; 

- <7GG5=<5 ?D<=F<?<4?L=OE < DG=>F<>=4?L=OE EE5< >5>DG4>64=<O E6O7<; 

- >E6>5=<5 F5E=>?>7<< 6O?>?=5=<O D45>F ?> >55E?5G5=<N <E?D46=>7> E>EF>O=<O GEFD>=EF6 

E6O7< 6 E>>F65FEF6<< E 45=EF6GNM<<< =>D<4F<6=O<< 4>>G<5=F4<< 

- ?5D<>4<G=>EFL D45>F ?> F5E=<G5E>><G >5E?G6<64=<N GEFD>=EF6 E6O7<; 

- ?>DO4>> >5E?G6<64=<O 4??4D4FGDO M?5>FD>?<F4=<O; 

- >E<>FD < GEF4=>6?5=<5 =5<E?D46=>EF5= 6 >5>DG4>64=<< GEFD>=EF6 < ?<=<= E6O7<; 

- 6OO6?5=<5 < GEFD4=5=<5 <5E4=<G5E><E < M?5>FD<G5E><E =5<E?D46=>EF5= 6 ?<=5==OE 

E>>DG65=<OE E6O7<; 

- <7<5D5=<5 < D57G?<D>6>4 >E=>6=OE E4D4>F5D<EF<> F5?5D>==OE >4=4?>6; 

- <EE?54>64=<5 >>=EFDG>F<< < <4D><D>6>< <54=>6<?L=OE < >?F<G5E><E >455?5=; 

- <E?>?L7>64=<5 >455?L=>= 4D<4FGDO; 

- <E?>?L7>64=<5 D5<>=F=OE >><??5>F>6 ?D< GEFD4=5=<< =5<E?D46=>EF5=; 

- <E?>?L7>64=<5 <5F>4>6 <>=F464 D47?<G=OE F<?>6 <GDF ?D< 66>45 6 45=EF6<5 ?<=<= E6O7<; 

- >7=4>><?5=<5 E <5F>44<< 74M<FO >455?5= >F >>DD>7<<, ?D>6>4<<O5 74<5DO; 

- GEFD>=EF6> 7475<?<F5?5= ?D< <>=F465 < 66>45 6 45=EF6<5 GEFD>=EF6 E6O7<; 

- >5E?G6<64=<5 6>?>>>==>->?F<G5E><E ?<=<= E6O7<; 

- <>=F46 >?F<G5E><E <GDF; 



- <>=F46 >?F<G5E>>7> >D>EE4; 

- E5>D>4, <>=F46 < ?D>65D>4 D45>F>E?>E>5=>EF< D44<>?5D544NM<E, D44<>?D<5<=OE < 4=F5==>-

D<45D=OE GEFD>=EF6; 

- >D74=<74F<O 4<EF4=F<>==>7> M?5>FD>?<F4=<O =5>5E?G6<645<OE GE<?<F5?L=OE < 

D575=5D4F<>==OE ?G=>F>6; 

- <7GG5=<5 >5>DG4>64=<O M?5>FD>?<F4=<O G7?>6 < GEFD>=EF6 E6O7<; 

- 4=4?<7 D45>FO EE5< ?5D544NM<E < ?D<5<=OE GEFD>=EF6 D44<>EF4=F<<; 

- ?D>6545=<5 <7<5D5=<= >E=>6=OE ?4D4<5FD>6 D44<>EF4=F<=; 

- >5=4DG65=<5 < GEFD4=5=<5 =5<E?D46=>EF5= 6 D44<>E<EF5<4E; 

- ?D46<?4 F5E=<G5E>>= M>E??G4F4F<< ?D< <E?>?L7>64=<< D44<>ED54EF6; 

- >5=4DG65=<5 < GEFD4=5=<5 =5<E?D46=>EF5= 6 EF4F<>=4D=>= < 6>7<<>= D44<>EF4=F<OE; 

- <5F>4O < E?>E>5O >?D545?5=<O E4D4>F5D4 < D4EEF>O=<O 4> <5EF4 ?>6D5645=<O; 

- <7<5D5=<5 GD>6=5= ?5D544G<; 

- <7<5D5=<5 =5?<=5==OE <E>465=<=; 

- <7<5D5=<5 ?4D4<5FD>6 6>?>>>==>->?F<G5E><E ?<=<= E6O7<, 4=4?<7 D5D?5>F>7D4<; 

- ?D<=F<? D45>FO D5D?5>F><5FD4; 

- <5F>4<>< <7<5D5=<O E4D4>F5D<EF<> < ?4D4<5FD>6 FD4>F4 D44<>E6O7<; 

- <7<5D5=<5 ?4D4<5FD>6 D44<>?5D544FG<>4 < D44<>?D<5<=<>4, D5FD4=E?OF>D4. 

 

4. �5N5< ?D>D5EE<>=4?L=>7> <>4G?O < 6<4O GG55=>= D45>FO 

�4>E<<4?L=4O GG55=4O =47DG7>4 505 G4E>6, 6 F>< G<E?5: 

>5O74F5?L=4O G4EFL 3 355 G4E>6, 

64D<4F<6=4O G4EFL 3 150 G4E>6.  

'65?<G5=<5 >>?<G5EF64 G4E>6 D45>G5= ?D>7D4<<O 74 EG5F G4E>6 64D<4F<6=>= G4EF< 

=4?D46?5=> =4 G7?G5?5=<5 >5N5<4 7=4=<= ?> D4745?4< ?D>7D4<<O. 

 

�E57> 3  829 G4E>6, 6 F>< G<E?5:  

<4>E<<4?L=>= GG55=>= =47DG7>< >5GG4NM57>EO 3 505 G4E>6, 6>?NG4O: 

>5O74F5?L=>= 4G4<F>D=>= GG55=>= =47DG7>< >5GG4NM57>EO 3 340 G4E>6; 

E4<>EF>OF5?L=>= D45>FO >5GG4NM57>EO 3 165 G4E>6; 

GG55=>= ?D4>F<>< ?> <>4G?N 3180 G4E>6; 

?D><76>4EF65==>= ?D4>F<>< ?> <>4G?N 3144 G4E4. 
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> D45>G5= ?D>7D4<<5 ?D>D5EE<>=4?L=>7> <>4G?O 

��.02 &5E=<G5E>4O M>E??G4F4F<O E5F5= < GEFD>=EF6 E6O7<, >5E?G6<64=<5 < D5<>=F 

FD4=E?>DF=>7> D44<>M?5>FD>==>7> >5>DG4>64=<O 

4?O E?5F<4?L=>EF< 11.02.06 &5E=<G5E>4O M>E??G4F4F<O FD4=E?>DF=>7> D44<>M?5>FD>==>7> 

>5>DG4>64=<O (?> 6<44< FD4=E?>DF4) 

>64?<D<>4F<O 3 &5E=<> 

D>D<4 >5GG5=<O 3 >G=4O 

 

1. �5?4EFL ?D<<5=5=<O D45>G5= ?D>7D4<<O 

$45>G4O ?D>7D4<<4 ?D>D5EE<>=4?L=>7> <>4G?O O6?O5FEO G4EFLN ?D>7D4<<O ?>47>F>6>< 

E?5F<4?<EF>6 ED54=57> 765=4 6 E>>F65FEF6<< E $��% %�� ?> E?5F<4?L=>EF< 11.02.06 

&5E=<G5E>4O M>E??G4F4F<O FD4=E?>DF=>7> D44<>M?5>FD>==>7> >5>DG4>64=<O (?> 6<44< 

FD4=E?>DF4) (547>64O ?>47>F>6>4) 6 G4EF< >E6>5=<O 6<44 45OF5?L=>EF< (��): &5E=<G5E>4O 

M>E??G4F4F<O E5F5= < GEFD>=EF6 E6O7<, >5E?G6<64=<5 < D5<>=F FD4=E?>DF=>7> 

D44<>M?5>FD>==>7> >5>DG4>64=<O < D>D<<D>64=<O E?54GNM<E ?D>D5EE<>=4?L=OE >><?5F5=F<= 

(��): 

�� 2.1 �O?>?=OFL F5E=<G5E>GN M>E??G4F4F<N FD4=E?>DF=>7> D44<>M?5>FD>==>7> 

>5>DG4>64=<O 6 E>>F65FEF6<< E FD55>64=<O<< =>D<4F<6=>-F5E=<G5E><E 4>>G<5=F>6; 

�� 2.2 �D><76>4<FL >E<>FD, >5=4DG65=<5 < GEFD4=5=<5 >F>47>6, =5<E?D46=>EF5= < 

45D5>F>6 FD4=E?>DF=>7> D44<>M?5>FD>==>7> >5>DG4>64=<O; 

�� 2.3 �EGM5EF6?OFL =4?44>G, =4EFD>=>G, D57G?<D>6>G < ?D>65D>G FD4=E?>DF=>7> 

D44<>M?5>FD>==>7> >5>DG4>64=<O < E<EF5< E6O7< 6 ?45>D4F>D=OE GE?>6<OE < =4 >5N5>F4E; 

��.2.4 �EGM5EF6?OFL M>E??G4F4F<N, ?D><76>4<FL F5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F 

GEFD>=EF6 D44<>E6O7<; 

��.2.5 �7<5DOFL >E=>6=O5 E4D4>F5D<EF<>< F<?>6OE >4=4?>6 E6O7<, >4=4?>6 D44<>E6O7<, 

7DG??>6OE < ?<=5==OE FD4>F>6. 

 

2. &5?< < 7444G< ?D>D5EE<>=4?L=>7> <>4G?O 3 FD55>64=<O > D57G?LF4F4< >E6>5=<O 

?D>D5EE<>=4?L=>7> <>4G?O 

% F5?LN >6?445=<O G>474==O< 6<4>< ?D>D5EE<>=4?L=>= 45OF5?L=>EF< < 

E>>F65FEF6GNM<<< ?D>D5EE<>=4?L=O<< >><?5F5=F<O<< >5GG4NM<=EO 6 E>45 >E6>5=<O 

?D>D5EE<>=4?L=>7> <>4G?O 4>?65=: 

<<5FL ?D4>F<G5E><= >?OF: 

��1 6O?>?=5=<O D45>F ?> >>=FD>?N F5E=<G5E>>7> E>EF>O=<O FD4=E?>DF=>7> 

D44<>M?5>FD>==>7> >5>DG4>64=<O; 

��2 <7<5D5=<O ?4D4<5FD>6 4??4D4FGDO < >4=4?>6 ?D>6>4=>= E6O7< < D44<>E6O7< E 

<E?>?L7>64=<5< 6EFD>5==OE E<EF5< >>=FD>?O < E>6D5<5==OE <7<5D<F5?L=OE 

F5E=>?>7<=; 

��3 ?D>65D>< D45>F>E?>E>5=>EF< GEFD>=EF6 D44<>E6O7<, 4??4D4FGDO <=>7>>4=4?L=OE 

E<EF5< ?5D544G< < >?5D4F<6=>-F5E=>?>7<G5E>>= E6O7< (�&%), 6OO6?5=<O < 

GEFD4=5=<O =5<E?D46=>EF5=. 

G<5FL: 

'1 ?D><76>4<FL ?D>65D>G D45>F>E?>E>5=>EF<, <7<5D5=<5 ?4D4<5FD>6 4??4D4FGDO < 

>E=>6=OE E4D4>F5D<EF<> 4=4?>7>6OE, F<DD>6OE < D44<>>4=4?>6, GEFD>=EF6 

<=>7>>4=4?L=OE E<EF5< ?5D544G<; 



'2 G<F4FL < 6O?>?=OFL EFDG>FGD=O5, ?D<=F<?<4?L=O5, DG=>F<>=4?L=O5 < <>=F46=O5 

EE5<O 4=4?>7>6OE < F<DD>6OE E<EF5< ?5D544G< ?D>6>4=>= E6O7< < D44<>E6O7<; 

'3 6O?>?=OFL D4EG5FO < ?D><76>4<FL >F5=>G >4G5EF64 ?5D544G< ?> >4=4?4< 4=4?>7>6OE 

< F<DD>6OE E<EF5< E6O7<; 

'4 4=4?<7<D>64FL D45>FG GEFD>=EF6 ?D>6>4=>= < D44<>E6O7< ?D< ?5D544G5 < ?D<5<5 

E<7=4?>6; 

'5 6O?>?=OFL D4EG5FO ?> ?D>5>F<D>64=<N ?5D6<G=OE E5F5= E6O7< E <E?>?L7>64=<5< 

F<DD>6OE E<EF5< ?5D544G<; 

'6 6O?>?=OFL >E=>6=O5 6<4O D45>F ?> F5E=<G5E>><G >5E?G6<64=<N 4=4?>7>6OE < 

F<DD>6OE E<EF5< ?5D544G< < D44<>M?5>FD>==>7> >5>DG4>64=<O; 

'7 6O5<D4FL <5F>4O <7<5D5=<O ?4D4<5FD>6 ?5D544645<OE E<7=4?>6 < >F5=<64FL 

>4G5EF6> ?>?GG5==OE D57G?LF4F>6; 

'8 >?D545?OFL <5EF> < E4D4>F5D =5<E?D46=>EF5= 6 D44<>M?5>FD>==>< >5>DG4>64=<<, 6 

4??4D4FGD5 < >4=4?4E E6O7<; 

'9 ?>?L7>64FLEO >>4>6O<< F45?<F4<< EF4=44DF=OE >>4>6; 

'10 6O?>?=OFL D45>FO ?> F5E=<G5E>><G >5E?G6<64=<N 4??4D4FGDO E<EF5< ?5D544G< 

44==OE; 

'11 M>E??G4F<D>64FL F<DD>6GN 4??4D4FGDG >?5D4F<6=>-F5E=>?>7<G5E>>= E6O7<; 

'12 >EGM5EF6?OFL <>=<F>D<=7 < F5E=<G5E>GN M>E??G4F4F<N >5>DG4>64=<O < GEFD>=EF6 

F<DD>6>= 4??4D4FGDO >?5D4F<6=>-F5E=>?>7<G5E>>= E6O7< (�&%); 

'13 D47D454FO64FL EFDG>FGD=O5 EE5<O >D74=<74F<< E5F< F<DD>6>= �&%; 

'14 >EGM5EF6?OFL >>=FD>?L >4G5EF64 ?5D544G< <=D>D<4F<< ?> F<DD>6O< >4=4?4< �&%; 

'15 >>=FD>?<D>64FL D45>F>E?>E>5=>EFL 4??4D4FGDO < GEFD4=OFL 6>7=<>L<5 

=5<E?D46=>EF<. 

7=4FL: 

�1 ?D<=F<?O ?5D544G< <=D>D<4F<< E ?><>MLN 4=4?>7>6OE < F<DD>6OE ED54EF6 E6O7<; 

�2 ?D<=F<?O ?>EFD>5=<O >4=4?>6 =<7>>= G4EF>FO; 

�3 E?>E>5O D4745?5=<O >4=4?>6 E6O7<; 

�4 ?>EFD>5=<5 E<EF5< ?5D544G< E G4EF>F=O< < 6D5<5==O< D4745?5=<5< >4=4?>6; 

�5 ?D<=F<?O ?>EFD>5=<O < D45>FO >>>=5G=OE < ?D><56GF>G=OE EF4=F<=, 7DG??>6OE < 

?<=5==OE FD4>F>6 4=4?>7>6OE < F<DD>6OE E<EF5< ?5D544G<; 

�6 4??4D4FGDG 4=4?>7>6OE E<EF5< ?5D544G<; 

�7 4??4D4FGDG ??57<>ED>==>= < E<=ED>==>= F<DD>6OE <5D4DE<=; 



�8 F>?>?>7<N F<DD>6OE E<EF5< ?5D544G<; 

�9 <5F>4O 74M<FO F<DD>6OE ?>F>>>6; 

�10 D<7<G5E><5 >E=>6O < ?D<=F<?O ?>EFD>5=<O D44<>D5?5==OE E<EF5< ?5D544G<; 

�11 <5F>4<>G <7<5D5=<O ?4D4<5FD>6 < >E=>6=OE E4D4>F5D<EF<> 6 D44<>>4=4?4E; 

�12 EFDG>FGD=GN EE5<G ?5D6<G=OE <G?LF<??5>E>D>6; 

�13 =47=4G5=<5 E<=ED>==OE FD4=E?>DF=OE <>4G?5=; 

�14 >E=>6O ?D>5>F<D>64=<O ?5D6<G=>= E5F< E6O7< E <E?>?L7>64=<5< F<DD>6OE E<EF5< 

?5D544G<; 

�15 ?D<=F<?O ?>EFD>5=<O < 4??4D4FGDG 6>?>>>==>->?F<G5E><E E<EF5< ?5D544G<; 

�16 =47=4G5=<5 < DG=>F<< 74?>6 (F5E>6) 4?O D47<5M5=<O D44<>M?5>FD>==>7> 

>5>DG4>64=<O < 4??4D4FGDO ?D>6>4=>= E6O7<; 

�17 ?D46<?4 F5E=<G5E>>= M>E??G4F4F<< 4=4?>7>6OE, F<DD>6OE < D44<>E<EF5< ?5D544G<; 

�18 <5F>4<>G <7<5D5=<= ?4D4<5FD>6 >4=4?>6 ?D>6>4=>= E6O7< < D44<>E6O7<, 7DG??>6OE 

< ?<=5==OE FD4>F>6 4=4?>7>6OE < F<DD>6OE E<EF5< ?5D544G<; 
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E>>F65FEF6GNM<<< ?D>D5EE<>=4?L=O<< >><?5F5=F<O<< >5GG4NM<=EO 6 E>45 >E6>5=<O 
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